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Question Number : 1 Question Id : 7164471801 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Read the given statements and select the most appropriate option with regard to them.

Statement I: The Law of Demand is the base of the Law of Diminishing Marginal Utility
Statement II: The negative slope of a demand curve is the combined outcome of the Income Effect and

Substitution Effect of a change in the price of the goods.
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Options:



Both statements are correct
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Both statements are incorrect
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Statement I is correct and Statement IT is incorrect
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Statement I is incorrect and Statement II is correct
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Question Number : 2 Question Id : 7164471802 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following can most typically have positive, negative and zero values?
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Options:
Cross elasticity of demand
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Price elasticity of demand
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Advertisement elasticity of demand
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Price elasticity of supply
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Question Number : 3 Question Id : 7164471803 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
The distance between each successive higher iso-quant should be declining to represent:
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Options:
constant returns to scale

1 = 2 Tore {?abeﬂé 0 TR

increasing refurns to scale
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decreasing returns to scale
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declining marginal physical product of a factor of production
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Question Number : 4 Question Id : 7164471804 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following indicates the end point of the second stage of production under the Law of Variable Proportions?
S0OTOS” ST G G0 P00 Tokad (33 GG g S0H0sY DDA IO APVH?

Options:

1. =

Peak point of the marginal product curve of the variable factor of production
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Zero marginal product of the variable factor of production
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Zero average product of the variable factor of production
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Peak point of average product curve of the variable factor of production
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Question Number : 5 Question Id : 7164471805 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Under which of the following market structures is equilibrium of a firm NOT conducive with falling costs?
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Options:

Perfectly competitive market
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Monopoly market structure
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Monopolistic market structure
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Differentiated oligopolistic market structure
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Question Number : 6 Question Id : 7164471806 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following represents the general condition for a firm's equilibrium in the context of the factor market?
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Options:

1. =

The firm combines the factors of production in a way that ensures that the marginal rate of technical substitution of
labour for capital is higher than the price ratio of the two factors
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2. %

The firm combines the factors of production in a way that ensures that the marginal rate of technical substitution of

labour for capital is lower than the price ratio of the two factors
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3. %

The firm combines the factors of production in a way that the marginal rate of technical substitution of labour for capital
reaches zero
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The firm combines the factors of production in a way that equalises the ratio of marginal product of a factor to its
respective price for each of the factors of production used
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Compensating variation of income consists of:
eSO DBIFG DE§V0(SToD A DBGHNN 9D AW, 0) DO EBA &otwod:

Options:

1. v

reduction of income to nullify the effect of a fall in price of the good consumed by the consumer
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reduction of income to nullify the effect of a rise in price of the good consumed by the consumer
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increasing the income of the consumer to enable her to match up with her neighbours
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increasing the income of the consumer to enable her to reach higher indifference curve
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Question Number : 8 Question Id : 7164471808 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following satisfies the condition of price discrimination by a monopolist?

S00TAS” B IEIAEEAED (DSTDY) o GO DdEee 0INE), DLOGIRD DOBRDERE?
Options:

1.«

In equilibrium, the commeon marginal cost curve is equalised with the marginal revenue of the most elastic market
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2. %
In equilibrium, the common marginal cost curve is equalised with the marginal revenue of the least elastic market
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3¢

In equilibrium, the common marginal cost curve is equalised with the marginal revenue of each of the markets over
which price discrimination is being practised
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In equilibrium, the common marginal cost curve is equalised with the unitary elasticity points on the marginal revenue
curves of the different markets
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Question Number : 9 Question Id : 7164471809 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Lerner's measure of monopoly power is applicable when the competition between sellers is based on:
09530, S0TrR) AV ) S08 BN MG BTPONE &) DN T6Y6 GIg), I 38 Fod H00d?

Options:



product variation
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promotional costs
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pricing of the product
9 v E8 83 030E); 656 (Rof)

distribution channels used by them
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Correct Marks: 2 Wrong Marks: 0.66

Technical progress is said to be capital-deepening if:
FoBRE TN 9D OO (sogeoeres GDDoh) T & “ﬂn:ﬁﬁao@ﬂ SR DIEICIER0E:

Options:

1.«

along a line of constant K/L ratio, the MRTS of labour for capital decreases in absolute terms.

?gtﬁ@é K / L D@ B Doerct, srercsado g0 200D MRTS(200e589) BogiDesa0(eseryerges 835%} e5°

EQ(;}J R TAR

2. %

along a line of constant K/I ratio, the MRTS of labour for capital increases in absolute terms.
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3. %

along a line of constant K/L ratio, the MRTS of labour for capital remains constant in absolute terms.
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the downward-shifting iso-quant becomes steeper along a line of constant K/L ratio.
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Which of the following is NOT one of the problems discussed in connection to general equilibrium analysis?
FT0E DAFO] DFNEIL 08206500 BB VIS’ 80d TOS° IB TPE0?

Options:
Existence of equilibrium

1. = mm@u5@ &S

Achievement of equilibrium
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Uniqueness of equilibrium
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Stability of equilibrium
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Question Number : 12 Question Id : 7164471812 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a correct statement in connection to households as one of the sectors in the circular flow of
income?
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Options:

Households supply the factors of production
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One household implies one family
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Households undertake investment activities in the economy
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Households represent the deficit sector of the economy
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Question Number : 13 Question Id : 7164471813 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following is NOT considered as one of the four sectors of the economy in the context of circular flow of

money?
Gf TS PareTo {:\)m&%@é T 5D 20I) JDE[S” & Fod TBS” IO €508 D[R alng), T Gorrees”
2,867 Britdodracicn?
Options:
Government

aEedco
1 &= & S

Foreign sector
3 % DA cotio

Financial sector
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Question Number : 14 Question Id : 7164471814 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Who of the following is attributed with the introduction of the ideas of division of labour and specialisation?
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Options:



Adam Smith
1 v eRCE ) ?3&@

David Ricardo
9 i GDE Y

Paul Samuelson
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John Maynard Keynes
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Correct Marks: 2 Wrong Marks: 0.66

Which of the following is considered to be a revolution in macroeconomic theory?
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Options:
Mercantilist Approach
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Classical Economics
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Keynesian Economics
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Monetarist Approach
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Correct Marks: 2 Wrong Marks: 0.66
Which of the following analvses establishes simultaneous equilibrium of the goods and money market?

308 TS5 & HPPED HBOTL G HIT)E TG, IETV VAFTOB IGYDRA?

Options:
Say's Law of Markets
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Classical Income and Employment Determination
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Keynesian Principle of Effective Demand
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IS-LM Analysis
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Question Number : 17 Question Id : 7164471817 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which law does the following statement relate to?

'The act of producing goods generates an amount of income that is equivalent to the value of the goods produced, which

is then expended on purchasing the output produced'.
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RNV EEIEd B 0| GG T30 SIZDADE DEVL) DATZM RITPOIPDY) 900000, BLOHDO el
EEPN T &a0ffen SohdS DAY DB

Options:
The Psychological Law of Consumption
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Okun's Law
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Say's Law of Markets

5
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Law of Supply

4 % DO ﬁ}gﬂo@o(@“ e5) ROW)

Question Number : 18 Question Id : 7164471818 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Who would vou attribute the policy recommendation that tax cuts would have expansionary effect on work efiort.

saving, investment and output?
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DEPR DDPENRD DD IS I AFW?

Options:
AW Phillips

e, HBDY
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Arthur Laffer
2 o e:?gﬁ erad

Edmund Phelps
Qﬁéeé E.}E'_'i:);}

Milton Friedman
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Question Number : 19 Question Id : 7164471819 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Lack of information about job vacancies, high cost of information, slow occupational mobility, high cost of training,

etc., are some of the labour market imperfections responsible for unemployment.

eﬁigri AFDED), LIDE DTG ‘Dﬁojm’ :J.méga S0 SODE, edHs J5m ;aci)r) 2GR o7 Do) REATFEFECo

SEY Do IS (IS seoRanahy £ TS a0)85 &5 aren.

Options:



frictional

1. v mgmf@ﬂdﬁé

structural
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cvclical

3« D300 (23565)

natural rate of

4 = Dira Gt

Question Number : 20 Question Id : 7164471820 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

How has Hicks defined the accelerator?

ajjﬂﬁguﬁegﬁm f;:wé:) Jer .U{jﬁrf}oanm?

Options:
Ratio of autonomous investment to the increase in income

1. = RITION DEDEVE DG DEVLIC AND

Ratio of induced investment to the level of income

9 . TOD 7008 DTS DY’ i

Ratio of induced investment to autonomous investment

3 x (S0g DEVEIGS BBG DEVIE DD

Ratio of induced investment to the increase in income

= 5 ) = )
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Which of the following is consistent with a point to the right of the IS curve?
3od aried” DB IS DE0nDH HE DN &) Do 9RDEIOTT 0806 ?

Options:
Same level of interest rate combines with lower level of income

1 933 P00 3G B BEY,S STPOD o Somco
. ks [} =} [}

Investment exceeds savings

7 % DG SFEDRDA) Dol Hdo

Excess demand for goods

7z DWDOLD VHE Carok

Excess supply of goods
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Which of the following is NOT consistent with a point to the left of the LM curve?
SoHareded” LM 580 308, IED PIDA &) Do 9DEsOTT TIO DH?

Options:
Excess supply of money

1 " ealns Qaﬁﬁ FJZQDJJ

Same level of interest rate combines with lower level of income

7 €9y gﬂcm u“::ttg. Be BE) & STTOD gﬁcm@ﬁ Eercto
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Speculative demand for money remains the same, while transactions demand for money is lower

G50 Do exFads Earol 98 DGO €otwod, ond gojo F6%H erardde Earel $E) O &otnod



4. v
Speculative demand for money remains the same, while transactions demand for money is higher

@50 o exdfads Earol @B DO0TF &ot1od, ond Gajo §6%) rordde Earol I ST &otnod
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From the original point of simultaneous equilibrium in the goods and money market. if the rate of interest increases.
which of the following adjustment processes will happen?

DDED BTN G ma&ens" DEse) RRAVDIS 0I0E), e Doday Adod, D¢ Bew DBADWEND, & Sod
AT HIHVS” IO AMHEH?

Options:
Excess demand for goods will push down the rate of interest

1 » DR0DOD B Earol HE B SHS

Excess demand for goods will pull up the interest rate further

9 ORWDVL BHE Lol DG B &80 DO
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Excess supply of money will cause mcrease in the bond price and induce a fall in the interest rate
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Investment will increase leading to increase supply of goods

4. % SRS W00 WIS EVEIE DEIDLBI0E
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Which of the following theories provides neoclassical economics with a theory of expectations and beliefs formation
that is a priori consistent with the optimisation hypothesis?

eIROBND 1PN (DT BDE0ER DOSOND ) DGR LRV IOSTFLD DBOT JAY O EFDEOND
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Options:



Adaptive Expectations Hypothesis

1 = OTPD ISDFNOY TP GSID

Rational Expectations Hypothesis

3 BDS IEDINDY TR

Permanent Income Hypothesis

q 5 T SO DBEND (DD @DS0 TPFGSID)

Friedman's Long Run Phillips Curve
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Correct Marks: 2 Wrong Marks: 0.66

What is the horizontal portion of the LM curve identified as?

LM 56 aooog), £8e Darrosd (350am0eded) 2o @ DT (LOoILIGIR?

Options:
Classical Range

1. = E‘?&Sﬁﬁoé

Intermediate Range

2 % raomégiomes o

Keynesian Range
3. ¢ &30S God

Monetarist Range

A 5 SO o
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Correct Marks: 2 Wrong Marks: 0.66



"Were I to insist.....that the reduction of mass poverty be made a crucial test of the realisation of economic
development, I would be separating myself from the whole body of literature in this field.” Who is attributed with this

quote?

"Fraurars DEds)Y Shosto 505 D03 30520 DOLT Barywold, DR S Corfos” Ao JaFBfo ok S
A DOBFR... ... D I DT Doerd" & ESF IHcd esardode=m?

Options:
Adam Smith

1 = e9CE ) ?3&@

Jacob Viner
P @ @@sed Db

Karl Marx
ED{:;j mﬁbﬁ

Lewis

4. % eorond
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Which of the following dimensions is NOT reflected in the Human Development Index?

D0 DDYG ArREeS” & Sod oo’ D6 D000 ?

Options:
Long and healthy life

1 = &G 20803 3T IS0 BDB0

Knowledge

zwyéaim

A decent standard of living
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Inequalities and empowerment

], v PAFIBD SBOTD FETC

Question Number : 28 Question Id : 7164471828 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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In his theory of growth, Adam Smith assumed based on the premise of expansion of the market size over time.
B3 Dyl REPotee’, SRS AI°0),E5 DBIFE DVOE Q00 TGO eSED S PDOTCD.
Options:

increasing returns to scale

1 v ej{ja’jﬁ(?::bﬁ'f}ﬁj DALEODY T

decreasing returns to scale

9 % ej{ja’jﬁ(?::bﬁ'f}ﬁj SDHBOD) T

constant returns to scale

o 5 =}
3 « @Gaﬁ{@bé}ﬂj 20 T

increasing real cost of production

4. = TR GI1E) PR DJO DA

Question Number : 29 Question Id : 7164471829 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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Wheo would you attach the concepts of innovation and entrepreneurship to?

€53, 08 0BT ﬁﬁsﬁg“KJS@ B0E), ZPHIVRD DB IO 26 SFd?

Options:
Adam Smith

1 « eRCE ) ?3&@

Schumpeter
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Kaldor
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Question Number : 30 Question Id : 7164471830 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Reproductive health, empowerment and economic status are components of:
DRSNS 5B (ijo (BTESD 7). FOS0S sDBoIL e508 DB OD o), aFrreD:

Options:
Human Development Index

1 = AT 'E'_‘JE‘:}&'}&Q % =

Gender Inequality Index
7« Do eRarEdHa s

Gender Development Index

3 Doy @éﬁ)&j&% P b L [

Women's Empowerment Index
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Question Number : 31 Question Id : 7164471831 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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What is one of the drawbacks of headcount index of poverty?

DEBE0 g WES 0 DIDE 00, 5% S 2,863 DD?

Options:
It cannot be converted into a relative measure of poverty for the country.

1 = 20 BT DOBYo o3E), Fog Feerr DTG



It is an absolute measure of poverty.

7 % 26 D50 {:ﬂné& ﬁo@g Seres,

It fails to measure the depth of poverty.
3 v 20 DO G, e5° 00 FoncosT DDoauanuod.

It mixes up cost of basic needs with food energy requirement.

4w 8O ETO DVTOF FEE IDVTD DEDN VS0 Sod.

Question Number : 32 Question Id : 7164471832 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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Kaldor's Model departs from its predecessors in that it:
£65°6y eSS T P00 Aot DD, ed:

Options:

1.+

avoids the distinction between changes in techniques and productivity induced by capital accumulation per labour and
those induced by technical invention or innovation

28 TOOHIS DTOGD DoDSB0 BOIL FoEAE LI 0 ST ADE0ER TP HODODIED DEEBOeD H0BATD
EEPNOSS Q0G) HEF[IPDY DadR0d

2. %

separates the changes in techniques and productivity induced by capital accumulation per labour and those induced by
technical invention or innovation

28 TDOHIS DTVGD DoDSB0 BOIL FoEAE LI 0 To° ADE0ER TP PODODIED DEBD H0BAID

EEPN GBS Do DM SRod

3. =

ignores the changes in techniques and productivity induced by capital accumulation per labour

DB FAEODIS APV OB LT 20000386 DGR bty E@“Dﬁfigﬂjfjﬁ R0PENORD DR, B2008



4. =

ignores the changes in techniques and productivity induced by technical invention or innovation

FP0BAE DY, 06 T DDSOER TPL0° DBDODIIED DPBLD 0BT EFPE50S° PR DB

Question Number : 33 Question Id : 7164471833 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What are the three primary P's in the 2030 Agenda for Sustainable Development?
mfgcs D0 F0 2030 J@ormed” &y Qre JFOnE D en (P's) Q2067

Options:
Poverty, People and Prosperity

1 = F DY, DEDS B3 FoNdE

Peace, Prosperity and Partnership

7 DD, T0 @Basn D gHE DO

People, Planet and Prosperity
3 v DEDES, TS 0Bt T8

Plan. Planet and Peace

4 % T, FRES d0Baio DO

Question Number : 34 Question Id : 7164471834 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The Human Resource Development Vertical deals with issues related to:
ST HAWR DB 0TI DoeIBEDD DAVOE HIIETBODO:

Options:
literacy, skill development and training

1 = IETPRIE, DaHFa) DG SOOI I

education, sports and youth affairs

I e, Scen SOOI aineed DDTTED



education, public health and medical

9 . D0 LarBijo d0Botn Dy

training, skill development and hiring

4 x F565, Papea] DG 0boin Dairanso

Question Number : 35 Question Id : 7164471835 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
What according to the New Paradigm for Development are the five levels at which development strategies need to be

focused on?
0D oo FY darer 95700 @R QIR MR DRDVVD DD FFoen IDH?

Options:

1. v

Private Sector Development, Public Sector Development, Community Development, Family Development, Individual
Development

Daed Cofl DD, @8:53@5 Goti e9ai &, Daaras eadlaid, Soe00e) 9o, bgéﬁej e9)aiy
= (] (] () () o o

2. %

Sound Fiscal Policy, Sound Monetary Policy, Openness, Security of Property Rights, Privatisation

S8 B DS Dordo, SO Bo] DEEN0, LDIVD, BN TPE © HES, DIOECEH

3. %

Resources, Economic Management, Knowledge Management, Sector & Sub-National Strategies, Social &
Organisational Capital
DI, 0 DO, TTE DB, 1F°6 & DE-DNVS TR, TFoo & SGRBNDS TS

Comprehensiveness, Consistency, Coherence, Completeness, Collaborative

A % a0, ?motﬁe‘jso, TobE, DOIPYD, VIPS"C0

Question Number : 36 Question Id : 7164471836 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following thoughts constitute Prebisch and Singer’'s views on gains from trade and LDCs?

Tredergo SOOI ISEHO Aol DB TPIPUD DDA 0001 Horid DTFOITFON S0 2 eseF DD 590D o0 ?

Options:



1. =

High income and price elasticities for developing countries' primary goods vis-a-vis developed countries' manufactured
goods were unfavourable to economic growth of the former.

DD DOVBOY) BT FEE HWPV Eo ©HS T SBOID G6 RBIDEBL Doe0dw) DHE DoOD
&Fre S0Ird HRVHEL JDDE 305 )03 VAWETVTOD.

2. %
Trade between developing and developed countries help the former become independent.

D0 DotBo) dBoin DD Dobd BTV DOC] DPIE0 VDO VBB AFGLEIS VIFADDEBE.

3.v

Low income and price elasticities for developing countries' primary goods vis-a-vis developed countries’ manufactured
goods were unfavourable to economic growth of the former.

2D DOBOD) BT FOE HRDPL TR0 B8 H BEEoNO ZDBAID O VAFDEGLD Doe0doD) DD
Do BT SOITP0 DL SV 08 908 IETVRID.

International trade acts as an engine of economic growth for developing countries.

£90HT" IO aredafo eyl BotHdud) DT VD B80S HAS 2.8 QORI DIBOD.
4. # & G @ [ =

Question Number : 37 Question Id : 7164471837 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What does the 'Constant Institutional Wage' hypothesis in the Fei-Ranis model refer to?

H-TEDD AdauTarestD '?gcs mgvﬁ@ DBD0(57T7)085 ADNIRFINS DED)' DBELND B PPIL?
5} [}

Options:

1. =

The assumption that real wage of agricultural population is equal to the marginal productivity of labour in the industrial
sector.

aj?sai)“cm 2P 308); DRDD DSDo FOFTD0E Corioed” e (Fatoe) o308 Earod ST GEBD DATD0 B
=

2. %

The assumption that real wage of agricultural population is equal to the average productivity of labour in the industrial
sector.

53_5.;5%“0:&) 2P I8, Dagnd Do SRBFTILE GorioeS” Sed(FT Do) CB00E); DI ETPNGEBE) Ao ed
=



3. s

The assumption that real wage of agricultural population is equal to the marginal productivity of labour in the
agriculture sector.

53_5535“053 2are 0308), DBV DBDo 5:1?55.35)“0:&) Gorioed® Fead(FTDusHed) o), Earoeh EEPOSBLD DATDO 9D
5o,

4 v

The assumption that real wage of agricultural population is equal to the average productivity of labour in the agriculture
sector.

aéaﬁvo:u 2P GI0E) DBNOD DEDO aﬁaﬁno:n Borioes” Ferd () Driew ETPYGEBD DATD0 9D G

Question Number : 38 Question Id : 7164471838 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Identify the odd one.
DA o &) @D Modiod.

Options:
Money supply

1. = G363 WO

Money stock
9y O e (FE)

Quantity of money

3 % aTeigrelelvbicly

Money flow

4 v B3f 2aT"aT0

Question Number : 39 Question Id : 7164471839 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a determinant of money supply?
S08 TOES” IO G DODT (80 VDo) DFoEDE?

Options:



The required reserve ratio

1 = €950V BE0] DN

The level of bank reserves

2« eP§0S B2 g“cm

The desire of public to hold currency and deposits

7 « €80y 0601w Eareed $BA aomod paeo §08

The target of zero rate of inflation

4 v GBI gonee0 030, AR Gew B0

Question Number : 40 Question Id : 7164471840 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a primary function of a commercial bank?
S08 TOS” IO Triday ejoS) MNE), FOME IO F?

Options:
Accepting deposits

1. = Garae ©ohsdome

Lending of loans and advances

2 “ (OEFred 0d03D @mﬂgmhﬂm f@&ﬁg{io

Transfer of money

3w S0 wdd

Providing locker facility

4 v eES :"rsqﬂo saﬁomm

Question Number : 41 Question Id : 7164471841 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following will lead to increase in money supply?
30H0S" DB @y POHT (20D DHOW) VOIS TBBH?

Options:
Increase in currency-deposit ratio

1 = gab;)—dﬁnae’i afqb@es‘i Folod g b Al

Increase in high-powered money

I B8 38F ErED GO DOMGL

Increase in reserve-deposit ratio

3 % 5&55-(15”63&5 afqﬁes‘i Faleb gl

Increase in excess reserve ratio

4 % €595y B89 3‘&13@&55 DO

Question Number : 42 Question Id : 7164471842 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is the most direct method of monetary control?
308 OIS G DoDoGE VL), DBLE DG D07

Options:
Increase in CRR

1. v ~e36es6 (CRR)&S® oo

Increase in repo rate

7w O Gendd” DaxLO®

Open market operations

7 % £00 a0 5 ?dﬁggi‘)ﬂw



Moral suasion

4 % PRLLL ;350:&;:0{@?.:56 “ﬂ)@dﬁ)ﬁﬁ]

Question Number : 43 Question Id : 7164471843 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

According to which theory of Demand for Money, is money considered to have unitary elasticity with respect to price
level?

gdge Fo% arol aing) D RZrodo PSTC0, BB .gvcmé Q0810600 Gojo IS0 E‘aﬁ'g"’;}g@ 500 &) en

DB(doeIcDe0E ?
Options:
Classical Quantity Theory of Money

1 v SRNELS] 3“509393 HOO e3H a0d

Keynesian Liquidity Preference Theory

5y SBband B5Ed HOD Gowd

Tobin's Theory of Demand for Money
3w ¢5°DD HODO 3D AdTol D6 0D

Baumol's Inventory Theory of Demand for Money

4 = EPDI™E) O30E), ﬂaasoma HO0 e3D Aol 96 s0d

Question Number : 44 Question Id : 7164471844 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What differentiates NBFIs from commercial banks?
J’E’E‘seeré E;JG?SCJQJP_J Aoé JRDIDDORD (NBFlew) D6 Db Sdnod?

Options:
They accept deposits from the public

1. = O D20 ¢ Carafy ©oSoraw



They lend for productive activities

9, ODETNOS SPO{SeTrOS) PR QIR0

They are not a part of the payments mechanism

3 v £95.) ﬂ@o@t} a‘jjogﬂoﬁofﬁﬁ 290 SEE0

They invest in government bonds

4 x O DEA P0G’ DENLICIRD DET 0N

Question Number : 45 Question Id : 7164471845 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a selective credit control measure of the central bank?
308 TOS” D& VoS erjos Y POZDO 3G Soff'S Fos?

Options:
Variable reserve requirements

1 = 2bciene 5&555(63(5 :1:-.135] €9 GIRITFEL)

Bank rate policy

2w E.J”?Soé J6 D0

Open market operations

7 & LR 206 S“G?SSE?“%“ELD

Direct action

A v Q@éi g~ el

Question Number : 46 Question Id : 7164471846 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT characteristic of the Indian banking sector at the time of introduction of banking sector
reforms?

ergodof Coff Do) CE PIFTDOD DS Sod T IO 208 ejodoli Gorfo C3VE), Tr&fLe S°0?

Options:



Directed investment programmes

DI VLG SEOSaTeD
1' b (] e ?S

Directed credit programmes

% u i}g%‘@ f=al:x) Eudégm»m

Deregulated interest rates

3, Ok 00 dowogrs HEdo

Inadequate capital
A % POFD dorocdo

Question Number : 47 Question Id : 7164471847 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Given currency = 2100 billion, deposits = ¥400 billion, excess reserves = 210 billion, and required reserve ratio = 0.2,
then the value of the money multiplier will be:

£33y = T 100 HBaDS, dareen = T 400 HOODA, 6y Badxen = T 10 HI0HD, BT IDVCRD 6267
Saa0o = 0.2 N0, GO (DEso IS, Dend:

Options:
26.3158
1. = 26.3158
2.6316
7« 2.6316
3.1579
3 % 3.1579
1.7857
A % 1.7857

Question Number : 48 Question Id : 7164471848 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Which of the following is a supervisory rating system for banks?

208 05" DO EPJOLID DOJDLEE Bedoh &f}éuﬁ‘é}(“&lﬁﬁbgﬁaﬁ orod0f 0)?

Options:
SARFAESI Act

1 « 2048 o35 (SARFAESI Act)

CIBIL
9 % 2OS (CIBIL)

CAMELS
3 v S0y (CAMELS)

INFINET
@2y2¢5 (INFINET)

Question Number : 49 Question Id : 7164471849 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which theory of demand for money incorporates determinants like price level, level of inflation, yields on bonds and
equities, income, and ratio of non-human to human wealth?

G50 EOS &drrol d3ng), D PLFOB0 OO Qﬂcm, I gonmo gucm, EPOLD S0O0KD S:S(Bep eTFON0, STPaN0

SOBOT AT DODCGL ATIDBC NS H08) DFOIFAT MO DA &otnod?
Options:
Fisher's Quantity Theory of Money

1 = ﬂj&;ﬁ:} ?509363 HOH0 esd S0

Marshall and Pigou's Cambridge Cash Balance
9 % S0°GE 080T DT s, SoDE SR EFISOY

Keynesian Liquidity Preference Theory

3 % EJI000N BEED DTy HODB



Friedman's Restatement of Quantity Theory of Money

4 v DR 008 By DB ?Gg“oﬁﬁ CB00E), LD

e

Question Number : 50 Question Id : 7164471850 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following most appropriately represents economies of scope for banks?
S0HTRS” DO ePjoHw DODA(TY D)0 B8S DDV PFVIH?
[ o

Options:
Total assets

1. & 2o eFRDED

Credit to deposit ratio
7w 3G e Garasd Gaoir

Other income to operating expenses

3 v ,?}GS.‘J% a.'}ﬂ.‘}t‘jﬁ}ﬂ.'} 2680 esPoDo

Demand deposits to total deposits ratio

4 x 0o Garag) DD darol Earaen

Question Number : 51 Question Id : 7164471851 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which factor makes the principle of exclusion inapplicable to pure public goods?
D0RIF0II0Y) APEPD) WEINEDR) D DDVE) HB0DBCND 5°650 AT

Options:
Product indivisibility

1 v EOND IDPR[S

Product divisibility
2 % GEOND Derafe



Its availability to users can be decided in a discriminatory manner

q 5 DVDATEOOL T B[O DETS PDBE DPoSDB0H

Its consumption is rival in nature

&I HAGITM0 FErDSorT TFHSS 0 S0

4, = S

Question Number : 52 Question Id : 7164471852 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a feature of public finance?
SoHTRS” DHS POy L), VL IB?

Options:
It follows market principle

1. = 0 &0°0), 6 ArZED) VO

It follows the principle of quid pro quo
7 % b &8 &' E¢ Argrd) 90082008

It follows the budget principle

3 v 0 85 rEED) 90000

It first ascertains its income and then determines its expenditure

20 DG TR E_‘IETDTUDQ‘:L oeG00d Sudodiy ddhared e 535{:::13“:?}& G000
4. #® Gy £3 —=

Question Number : 53 Question Id : 7164471853 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Canons of Taxation were given by:
DAY DBOXY fﬂ%ﬁ“ﬂ@“w DB QIOEIGTO:

Options:
Wagner

1 ® E"‘ﬁﬁlﬁ



Wiseman-Peacock

7« DI H-5°5

Adam Smith

3 v eRCE ) ?3&@

Galbraith
T'i“t‘ja]lﬁ

4. =

Question Number : 54 Question Id : 7164471854 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is related to the allocation function of the government?
208 5" DO DAL 30005 »00(25° 800 DoED) B HDoeI0ALHDE?

Options:
Distribution of goods so as to maximise total satisfaction of the society

1 x P00 anE), 0 20850 DOSTTIS DN 0I5

Provision of social goods

3 FPATRY SN Doﬁban

Maintenance of price stability

7 « 36 %}acﬁe%o o0, DO

Distribution of tax revenue among competing expenditure items

4 = T S0 DDV DAY ToEIC: DowEs

Question Number : 55 Question Id : 7164471855 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the basic criterion for tax-structure design?
DAY -DT7£8 AFDEONDLD FEDE PaFes0 I ?

Options:



Redistributive effect

1. % 3D DoDdES Derado

Equitv

Maximisation of revenue

[
3' " eseal) ﬁﬂgsr:isa

Equality of absolute sacrifice

A % 3G DO io (eseryerryes JrEnd) B0E), DATHE0

Question Number : 56 Question Id : 7164471856 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

is the legal description of the object with reference to which the tax applies.
€96 EJ&’D;L 2004 e9030 DS:;JEE’ £3a00a R HotwlelxR

Options:
Tax liability

1 = DY dPo(erSy o)

Tax revenue

7 u E"ml [0l AT

Ability to pay

2o 3“5?1)%0

Tax base

1 o &5

Question Number : 57 Question Id : 7164471857 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
The Law of Increasing State Activities was put forth by:

DOMHBODY TR SO Argo IO PDIDRICIO:

Options:
Wagner

1 J E"ﬁiﬁ

Wiseman-Peacock

7w D WO-OTE

Adam Smith
3 % RFCEaL) ?aé@

Galbraith
ﬁnej‘gj@

Question Number : 58 Question Id : 7164471858 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The Law of Increasing State Activities was put forward based on:
DOMBIDY T°F) SE{ETrare AFGo B STEGoTP A0S Syob:
Options:

the normative role that the government should play

1 = 260 Ta0erdyd DFFE Y

the projection of future requirements of the society

9 POTER0 ), BINE GDVT TBES

the inefficiency of the state

T°a] eﬂ“é]mgéj

3 = =



historical facts

4 v D0AS TPTRED

Question Number : 59 Question Id : 7164471859 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

is a technique to guard against wastage in public expenditure.

Qe Hyoo(HDE ;)Ebgcc:,mﬁ)ej‘ NG SPEIOTE TRFCETDS 28 033)5

Options:
Balanced Budget

1. = 0680868 E.}%GS

Zero-base Budgeting

I 25 -0 Al

Capital Budgeting
3 % DOTRVE BIEES

Social Budgeting
A = ORS00

Question Number : 60 Question Id : 7164471860 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a pecuniary benefit resulting from a government irrigation project?
& 300 TAS° DB PELS] IDTOGO FED HY HDY G000 DAITRD0?

Options:
Increased farm output

1 = 200 sﬁgaﬂvcm SNAtly

Reduced soil erosion

2 " E'jﬁr‘»f] ~e) Eodo



Higher real income of farm equipment industry

3 53553.5"05) DOETTL DB AI0E), A TRTTTODO

Preservation of rural society

A x TP DaTE HBCLH

Question Number : 61 Question Id : 7164471861 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The Fundamental Non-Decentralisability Theorem refers to the:
FEDE DI0HECHNE Lo (DotiD0eres TFR-GRoTaDDG HOLO) DBD DIEdLod:

Options:

1. v

fact that it is impossible for individuals to voluntarily get together to resolve market deficiencies without government
intervention

DAY @fﬁﬁo G0z S°0)£5 &5 aresn D0, B0TIS HHED YD OSOTT £0% Tracio @S)“(;aéo

2. %

unfeasibility of percolation of government benefits to the lowest strata of the society

Deaara0eS’ D) [0y DTV HADBY HOTTBRTORD E)Efbej"qé Do%co {Eﬁd{bcio] E}“cﬁéo T

undesirability of individuals trying to resolve market deficiencies

7 % S0),85 S"rO DB, BoST=DS HODAY WY DO T, BT LSS

inability of the government to operate effectively at the local level

A % gnf:js 200065 DDA RaGgDosOT DDBIODFED Do

Question Number : 62 Question Id : 7164471862 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following is likely to be the outcome of a unit tax, if the supply curve is less elastic. given the demand

curve?

Earol DEBD RN, VPO DEB BEY D Fﬁgﬁéo 9008, S0Haredes” DO aleDes ers5y DB BP0 ?

Options:



The after-tax price will rise much more

1 = ?.:).{ul 8300680 G0 TrEeT ;)Ebz,s:}nn DER0H

The after-tax price will rise less

Y & ﬁ).ﬁ)ﬁi D300 OO @ﬁ%-ﬁﬁ“ Faleblpblablela)

The after-tax quantity will fall much more

3 « DAY BODOBG DBATTO TFO° IEN D DAED 0O

The seller will pass on the entire burden of the tax on the buvers

4 = DIS Do DAY 2FTeD) FOFNTTDIS S0Py

Question Number : 63 Question Id : 7164471863 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the statements is correct in the context of a two country-two commeodity model of international trade where

the two countries have diverse domestic exchange ratios between the two goods?

Do SRV G DDDY S0 SFOYE Do 5898 ey wo@guéaojg Tredzgo 030E). Bocw FFen-0ocd
DRPO DXPRT DDE[S” D VLD WJIB?

Options:

1. =

Country A gains if the international terms of trade is equal to its domestic terms of trade

@o@gﬂeﬁam Treday De0EHRD T B0 T3] DGV VATV &ot) B30 A FDRV0G.

2. %

Country A gains if the international terms of trade is closer to its domestic terms of trade

290D Treda] LN TP BI0N oreia] DoGEHVE) GHOTP ol B30 A &rDR0d.

3.v
Country A gains the most if the international terms of trade is equal to the domestic terms of trade of its trading partner
country B

@o@g‘*e@oﬁa a"rﬁa&é DLIOCIDEL TFD uj“f%&?:é e;rﬂﬁﬁnsm 3o B 033365 AL love) a"s%aa-}g DEIoGINEE) RaTO0TTT eofl BFo A

rer erdanod



4, %

Country A gains the most if the international terms of trade is half way between the domestic terms of trade of country A
and B.

&30 A 20b030 B amg), At lon) ey DeIOEHY DG @o@gﬂeﬁam&; oreiag De0EHRD (1o mgoes‘i &of3 B30 A
e erdanod.

Question Number : 64 Question Id : 7164471864 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is true of accommodating transactions in the balance of payments?
2oipe m}s@éseﬁ& 930578y erarBaen (95Dt oh EPTED D S08 aeeeS” D& Davo?

Options:
They are the result of the BOP situation

e9) Dzsad (BOP) 08203 a3ng). »devo
1. « & i

They are the cause of the BOP situation
[ 2 o D
I % eas) Desad (BOP) DOVB ding) SCEEo

They are 'above the line' transactions

3 & 0D B0 pH(e2S’D & I erTrdden

They take place in goods account, service account or unilateral transfer.

1 9D (&Y ©50f5, “&:-8553 pS 0ts S Dééﬂﬁgﬁ exaDes® o).

Question Number : 65 Question Id : 7164471865 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If the iso-cost of a country is steeper, given that capital is measured on Y-axis and labour on X-axis, it implies that:
208 B30 G30E) 33‘2}5—5“;:9(01}50330] TPROTT €063, Sarexdico Y- e950 216 snboin G (zrang) X- e9fop
Feoecoa0od. @d A Ard0od:

Options:

the country is labour abundant

1 = B30e5° Feab(mang) QAT €00



the country is capital abundant

2 o 33065 TOESD0 DAY €00

capital is relatively costly

3 & POGD FrDEorr @rer DODHE

labour is relatively cheaper

4 % Feab(7Dos) rnsorr wrer B 3

Question Number : 66 Question Id : 7164471866 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following does NOT change when domestic flexibility is allowed as part of automatic BoP adjustment

mechanism?
3657205 BoP e oorrroriods ertiont BYah I (@éﬁ@ﬁ)éﬁ}m 29 0VBODDNED B0 e DO
DTG ?
Options:
Foreign exchange rate

1. v D0 JrCEY Gew

Prices

2. % Gow

Interest rates

3 = 53@5‘393

Income levels

A % e3P0 %**cmw

Question Number : 67 Question Id : 7164471867 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following transactions is part of long-term capital account?

& 208 rardows” &Q?E}Q SPOGR e (erofi-08), T[S 2957065 )e5° 23rio DO?



Options:
Export of gems and jewellery by India

1. = A Lela TR A3y gy e J0B05L esdcEme Jrbaed

Expenses of students studying abroad

]
7 % AL D)) am@m:ﬁ EJCF’ZSQJE_J Dfo3ren

Payment to an Indian pensioner settled in US

3 odndDes” DODED 2POBOH DRYDELD Yo

Investment by home country firms in foreign countries

'ﬁ - P o -
4 v DTS @55% 0RO LI

Question Number : 68 Question Id : 7164471868 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
What target was laid down by the government for India's exports for the vear 2019-20 in the Foreign Trade Policy of

2015-20?
2015-20 953 D“E%aagé Ddoes” 2019-20 "raoa@‘jtﬁ“f'\)é 2o Jrbadudoe 5o FSEARLENG Do VELY .ﬁg%‘o&ofb?

Options:

1. =

To increase India's export from $465.9 billion in 2013-14 to approximately $500 billion by 2019-20
ePOBT JHaAD 2013-1485° $465.9 HDaDS wrod Aod 2019-20 ~rdd 2000w $500 DVoHS gD Doto

2.

To increase India's export from $465.9 billion in 2013-14 to approximately $900 billion by 2019-20
POSST JHaaD 2013-1485° $465.9 DIaDS o Aod 2019-20 s 2o $900 DVoHS oG Dodto

3. %

To increase India's export from $465.9 billion in 2013-14 to approximately $1200 billion by 2019-20
ePOHDT HDADBD 2013-14¢° $465.9 Do wred dod 2019-20 =rd3 fuard §1200 DHBoD wrodsH

Felsinlalyl



4. =

To increase India's export from $465.9 billion in 2013-14 to approximately $S1500 billion by 2019-20
2013-14¢5° ercesddo G308, ADAVED $465.9 DVaS o aood. 2019-20 ~édd 2o $1500 DHOaLO

E“Dgéj wocitio

Question Number : 69 Question Id : 7164471869 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a member of the ASEAN?
Soarided” DS estroirD (ASEAN) [0 To?

Options:
Malaysia

1. & SoFaosres”

India
7 o DOSDI0

Indonesia

3. % @ofdnoTE

Singapore

A, % Noird

Question Number : 70 Question Id : 7164471870 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is an example of non-tariff barrier in the form of technical regulations?
93) 56 STNP G003 Fro-erHD e B80S & S0b T DO 2 ETFE0R?

Options:
Imposition of export tax

1. = Sa0ed ;}m‘l SDbocico

Imposition of import quota

7 % OHA er oo



Safety specifications for import goods

3 BHDD SO Do Bgme IgTen

State trading

UD@ aﬂ55‘°60

4, =

Question Number : 71 Question Id : 7164471871 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

According to the new trade theory, internal economies of scale lead to creation of market structure which
becomes a base for the firm(s) to specialise in the sector and export the product.

8¢ orthay dgrovo(doy BE BONB) PsTo, BT (7, S)a0s), 0BG €508 DR, VoR(V)H & Gorioes”
DRDE0 TPHOL) DBOIN EGNAD DA BoEIS 28 TPOOT A0 20°5),65 DO°LEFDY eI 000,

Options:
purely competitive

1 = RGEINEOD 2ed

perfectly competitive

7 % QOIFY STy

monopolistic

3 Dgﬁgmé

monopolistically competitive

4 = Dgﬁgmgw iy

Question Number : 72 Question Id : 7164471872 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is the net effect of the process of income redistribution on account of the imposition of import
tariff?
EDHEVD 080 NOOLRD SEOLOTT LITPOR AR o w0 CB0E), DES LPerao & Sod arees” DE?

Options:



Net welfare loss

1 v D mim(a@;ﬁ] R0

Increase in earnings of the domestic factors of production

7 SN GD 0L B0 TOTEO Doarcaes” Do

Increase in producers surplus

3« &N BTPOR DHen DAMDEY

Tariff revenue for the government

4 % Qe;t@f*sx}é 68D (Zwodo) estroido

Question Number : 73 Question Id : 7164471873 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is an unfavourable condition for persistent dumping?

S0Harie)” DCoB0 CoDoAHL) 9DDETORLD D0 A&7

Options:
A firm enjoys monopoly in the domestic market in respect of the commodity

1 = SVNED Poe10bod) DI 250),65° 28 200 eIy TFochedod

The price of the commodity in the foreign market is higher due to high cost of production

2 958 GTPE Hfo0 SO0 DB mabg DYV G50 IS T 00

The foreign demand for the commodity is more price sensitive than the domestic demand

3 DWDD DB Garol HIOD Carol S0 JL) H GO DIPDBRAG (DH-DDYDD)

The foreign demand for the commodity is price-inelastic

4 DD DB Earol G0-e9a§ D0

Question Number : 74 Question Id : 7164471874 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
By what rate must the real GDP of India grow, if the objective of USD 5 trillion economy size by 2024-25 is to be

achieved?
2024-25 T8 5 BDaLD trog &8 HBTE0 0IVL); VE0 FBotrol, PoBBF0 O30, TN BED D Gend
ED&Q wor8?

Options:
3%

1. « 8%

10%
? % 107

12%

3 0w 124

14%
4 = 14%

Question Number : 75 Question Id : 7164471875 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following Acts is related to the 'Targeted Delivery of Financial and Other Subsidies, Benefits, and
Services'?

S0d cSerers 2305 S80I WBO TrOEIED, DOITATD SO0 Do B0E), 0460 THHE'E DoeBENIE IO?

Options:
Public Distribution System Control Order, 2015

| . D05 RIS DR® So'S egh, 2015

The Cash Transfer of Food Subsidy Rules. 2015
& 331*?551 @:{335 ez & ‘Qi)ﬁé r:ijne'i'b_. 2015

The Aadhaar Act, 2016
3 v Zingle oo, 2016



Consumer Welfare Fund Rules, 2011

4 x gow5m6 Z&Ejgﬁ Dok CSJDE'F;}, 2011

Question Number : 76 Question Id : 7164471876 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What does the acronym NCEUS stand for?
NCEUS (2 R @ 03w Q) 099 Wodnarauo DD [Araod?

Options:
National Commission for Employment in the Unorganised Sector

1 = ) S20ns Hb Qo?cﬁo&oeﬁ A & ©JegHd 5o

National Commission for Enterprises in the Unorganised Sector

2 o aaced S b ;)oe.ag;}aaﬁ QA & P_ﬂéefg@g 2570

National Commission for Empowerment of the Unemployed Segment
3 % NORIS SDDD D6 JoDHTY 085 5D & €902)05)°00) 2,065

National Commission for Empowerment of the Unorganised Sector

4 = ared S 00 .:)oz'.maéoei es & @5&39@% ?\}'ET‘S

Question Number : 77 Question Id : 7164471877 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

According to the estimate of Prof. Colin Clark, in order to maintain the same level of living with a population growth

rate of 1% per annum, a country needs an additional investment of per annum.

T000 £05 5°6), 03008); e90DRT P00, DODBNTIS 17 aTFer DOMHEL Benet 2,8 %%m B35 (gvcm.i')
Farfodd8, 2wt S8 0DBNTDS RIGRRY) DEVLIE DGO,

Options:

1%

1. % 1%



4%
2. v 4%

6%
3. % 64

10%o
4 = 104

Question Number : 78 Question Id : 7164471878 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Of the virtuous cycle of savings, investments, exports and growth, which is considered to be the central driver?

TEZpen, DEPEIEDLD, LD SOOI 9B TS, ;_)d_)rl‘s&‘_ﬁj 2085 (virtuous cycle) &vod D& okyed ToOdTT

DOIEIoSEIEDBI06?
Options:
Savings

1. &« Toopew

Investments

Y @ AEEICIED

Exports
3. % Jrbaodoed

Growth

4. = e

Question Number : 79 Question Id : 7164471879 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which trinity is believed to have further secured Direct Benefit Transfers?
DOLE DOITRD eddeo D goiren abodd Adibeoroion) Fﬁﬂ_‘%S?

Options:



Make in India-Skill India-Fit India
1 « 08 QR moéoﬁr—?obe_’ﬁ' ododF-088 Qolair

Jan Dhan-Aadhaar-Mobile
7 ¢ B0 GO 0BS

Atal Pension Yojana-Mega Pension Scheme-PM Kisan Pension Yojana

7 09605 DD AITED-DOIT DI %&5)—?.3;}0 3D DHD drad

PMIDY-MGNREGA-PMAY(G)
4 % DI FlD (PMIDY)-Ja0 & Jeesd 2 (MGNREGA)-H 00 2(PMAY (G))

Question Number : 80 Question Id : 7164471880 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following have been the major objective(s) of water resources management?
308 THS” IO I DIV JOGEFE GG, VD Efo (e0)?

Options:
Water tourism and entertainment

1. = o6 eardao 20Bo3L S0

Water transport

7 % 2 corrE

Irrigation and hydro-power production

3 v DBTFEOCR BOIL 2O DD EBD

Drinking water supply
4. x =HID Hodo

Question Number : 81 Question Id : 7164471881 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following is NOT one of the basic industries?
308 THS° DO DO HDOFEVOS’ (B35 WoERYD) 288 S ?
Options:
Chemicals

1 % Q&’J_‘JSE.‘EJ

Cement

P s Do)

Car manufacturing

3 o T°g o0ird

Iron and steel

5
4. = D0~ 2003 ?385

Question Number : 82 Question Id : 7164471882 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Under the WTO TRIPS agreements, which of the following is NOT one of the cases for which India had to fight to
reclaim its IPR from other countries?
czg.)ngebed @E}D(MO TRIPS) 2s500TF) PB00, WBO BF"0 ot Doesd(IPR) &S00 STFoterIs eroiidao SroPEH0Nd
e20Tt) 020500 06 73S GO IH?
Options:

Pochampally Ikat tie and dye sari

1 v To0dY @zt  doin & Q0

Basmati rice

3 x E;ﬁ::ée‘ia ei}cﬁ:rﬁ-::



Question Number : 83 Question Id : 7164471883 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which is the new tool incorporated by policymakers in India following the New Approaches to Economic Challenges
(NAEC), OECD?
DEFE rTozn (NAEC), OECD © ¢ dorare 8076 eroetisoss” Sro 2080 JTotnddd §9 Jredo J&7?
Options:

Sustainable development goals

NI |
1 = mrgﬁ @iﬁ)éc}:g EPLRD

MSME sector
? % MSME Gorio

Behavioural insights

1 v e .;Jﬁ%anxjo

Question Number : 84 Question Id : 7164471884 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following propositions has found adequate statistical support by various studies on farm productivity?

DD EFPYBESD DDE SHODTO TP & 300 PAPGHVS” BIS BN (E0s DG ©DoDD?

Options:
There is an inverse relationship between farm size and farm productivity

1 v aj?gﬁﬁﬂcm MBaTEI0 aB0ID agmavma GBS G 25720 Doeiodo Eod

There is a positive relationship between farm size and farm productivity

7 % aj?gﬁﬁﬂcm DBATE0 a0B0sD agmavma GBS DG GTPELE V000 E0d



There is no relationship between farm size and farm productivity

3 « ajé.nﬁvm NBaATE0 aB0ID 5:15535"1::[‘53 ETP\SSS D] JeDo Doeloio S

Larger farms are more productive

4 = oo STFeTen D5, EIEYESS SDH Eotron

Question Number : 85 Question Id : 7164471885 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which sampling technique involves selecting every 'ith' item on the list as a sample?
DS DA 'ith’ 90770y DAS0DHTT JohE dco 2 PAIND B8y 57

Options:
Simple random sampling

1 = TR0 OGNS DHS0D0

Systematic sampling

9 o SRR DI

Stratified sampling
3 % 06 HASADIO

Cluster sampling

A x SR6 O3S0

Question Number : 86 Question Id : 7164471886 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Ogives refer to:
&0y (Ogives) DB drDIroL:

Options:
frequency polygons

1 D55 VD) (Fdxndy exromeen)



relative frequency histograms

7« F0g TP (6TOD 3;@5233} TP

cumulative frequency distributions

3 v 200 REDR] DeTaHLD (LH[HDTHD %QESEJ;} AQePIDY)

binomial distributions

B DeTraden (Branoied (i?é:-m?gaﬁﬁ}

4. =

Question Number : 87 Question Id : 7164471887 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Conditional expected values refer to of the independent variable.
DoOE esot)s Densden(Codinde Jﬁﬁ;}gc‘i TrTgen) (o SETHR CIE) 2 2P0,
Options:

summation of the values of the dependent variable against a given value

1 « PN DN SHATLOTP EDOE0ES DOCIEE (Horh& DoTeD) 0I0E), DeDR VoSO

each value of the dependent variable against a given value

2 % QN DN HATEoT CDOEE DO (oS SO0 )A30E), D Dewsd

3.

mean values of the dependent variables against a given value

QNG DD HBBLoTT CDoC0ES ?f}aamme'a‘:}(mm&a SO0 300 )aT0E), DT Devoden

mean values

A w DT Denaden

Question Number : 88 Question Id : 7164471888 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The problem of spurious regression refers to a situation wherein:

530 8FND (A8 awH0) 0 55y :;aig{aa PSS ATV AT



Options:
there is a spontaneous relationship between two variables

1 = Dot Gdoraoe 206 Ejgi}éé o060 eod e9d

2. ¢

a regression of one variable on the other may show significant relationship even when no relationship is expected
between the two variables

ToCD SH0TPBV0 DOC] DENI0EY 20200 LIFOLIDDNED ST SOT S SO0 GI0E), BN (DB Iawd0) 3003 DD

20205 DR

some variables are endogenous

7 « 5 SOTHORD Qoﬁamﬁ(@o@gaﬁgo}

the two variables are stationary

Tocsy A0TP3UED DEWHT GotFo
4 =
» 5 m

Question Number : 89 Question Id : 7164471889 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Random walk refers to a series of observations where the:

Boctan ar8 merotd HHILDL FBAD PRI
Options:
values of the variable keep moving in one direction

1 = SOT°3 GI0E), DeDeD 2.3 &3e5° Srnena® &oto

2.

value of the variable in the next period is equal to its value in the current period plus a purely stochastic movement

SOHTA S0’ SO0°Y G3E), DD PAS P00 TN DeHE DIFIOTF Eotod DB VPETT 0IFEINS
cieddo

values of the variable exhibit cyclical movements

7 % S00°3 030E), Dened HI0H SOTPDY DEOF0D



values of the variable are purely deterministic

1 % DOT°3 G308) DRVOLD QPO DGOITFE) S0

Question Number : 90 Question Id : 7164471890 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a non-parametric test?
Sof TreS” rFTrA Gared (7rd DTFRLBS) DE DH?

Options:
1 test

1. = tHds

ZTest

? % z00K

F test
3 % Fdg

Fisher-Irwin test

4 v 33;15—@655 o0&

Question Number : 91 Question Id : 7164471891 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is an INCORRECT assumption of the classical linear regression model?
S0bHarede” TmEeS HDoE 8NN rteS (Fronmral Do AT IIND HEED0) £ 208000 VT TG IE?
Options:

The disturbance term has zero mean value

1. = &fﬁﬁaé:f mﬁé :\:.mu 20700 Denadaw EOHH ceotod

Homoscedasticity

2 ® ﬁfﬁﬁa}“‘f@bﬂ"?ghé



Zero autocorrelation between the disturbances

3 « OTOSTR) SV 28 estTEHTND

4 v

The number of parameters to be estimated should be greater than the number of observations

90T DORDOID SFTEDEIe) ?bo;ué S0 Feode ”'n:n:m:.:;::_gJ Sofd :Z)S%ajw [=TaToad:)]

Question Number : 92 Question Id : 7164471892 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is an indicator of the presence of multicollinearity in the regression model?
BTN e (AT a0 HTE00)S” 2BED0I0 (LirouwirdDane) &3S Sob artde’ @ed30E(Rrds) DH?
Options:

Few significant t ratios although the coefficient of determination is high

1 v &8RN mméo[ﬂgﬂdm (DEago) ey O &é&?&)ﬂ}eﬁé §2) Q0D t Aydoen

Low pair-wise correlations among regressors

7 % aTgralelo) 290y 28 T8 LDaFR0e0ReD

Low values of auxiliary regressions

3 % a3k0ig ﬂ@fqég{eﬁaﬁﬁﬁmaﬁm] OT08), @90y Denden

Low values of partial correlations

4 % TFEE D00 OT0E), ey Denden

Question Number : 93 Question Id : 7164471893 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Coefficient of determination is the ratio of:
COBRNN dI0E); S0 (T o HEso) B Din:

Options:



residual sum of squares to total sum of squares

1 = TP G0 WVOSVRPIS DTV BIOFX) WoSVR0

residual sum of squares to explained sum of squares

% u TR seabocditier DoserdsS DT e950 T w0880

explained sum of squares to residual sum of squares

D) 9557 SRS aTre weboddiie) DoSedo
3 b 3] 3]

explained sum of squares to total sum of squares

4 v 2300810 DTV VOSVTFIS OT°V DG oSV

Question Number : 94 Question Id : 7164471894 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a test for detecting autocorrelation?
& 206 orded” S EHTNDM hdod HOE TP H DH?

Options:
Durbin-Watson d test

1. % dﬁaﬁ-ﬁ@gﬁéﬁai

The Runs test
7 & 6y e oA

Breusch-Godfrey test

Bos0D-TrE) DOL

Park test

Question Number : 95 Question Id : 7164471895 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Tnit root test is a test of:

ofaoeed dmeS DHOE eodre HD DHOX:
Options:
multicollinearity

1 » 2REOTod(irownirdDane)

autocorrelation
2 % 2655 BETnD

homoscedasticity

3 % ﬁ-ﬁ)‘hﬁﬁ“?gh&

stationarity

4 Qi}@ﬁﬁ?}(%}{jﬁso )

Question Number : 96 Question Id : 7164471896 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The relationship between the shape of the population distribution and the shape of the sampling distribution of the mean
is called:

FAIaEE TS olngb 2EFET e e38yed S0B05) D0 Daveadd estyed 011)53] Eevaly ?’ooe.}ot;j"i’)i rQeJ® e90IPD:

Options:
Normal Distribution

Jrrdce D@ (Fﬁéﬁ iﬁgm&?&%}

Central Limit Theorem

2 v Sog DOS Dot (Dotes DS &od)

Frequency Distribution

3 « %“a‘;:@aﬁ}s D@D



Finite Population Multiplier

4 = DB Brer (hrago(PDeS f)“ﬁ;)_}éej"qc% 28006)

Question Number : 97 Question Id : 7164471897 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When the error term is correlated, the stationarity of a time series is tested by:
&S50 Doo(Dgd €28), ) DI Doerocio SN &R e, DO B3 (So 269) o308, ‘?gd@so{; o) D T
DO LoDercHe00:
Options:
Dickey-Fuller test

1 = &8),-3006 DdL

Augmented Dickevy-Fuller test
3 o esTI,08E &8) -e6 DBL

Unit Root test

3w odworded ares DL

Granger test

A % Tro=36 Hbs

Question Number : 98 Question Id : 7164471898 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If the OLS method is applied to simultaneous equations, the beta coefficients would be:

OLS DHEAD Da0s°DE DASCEFOL HPODEY, DEP (DESRD QP E0LPO:

Options:
non-linear

1. % ©BDowe(rS DIoE)

unbiased

7 DaPEE20D (00D e0irR)



biased and inconsistent

3 o DEDFS S 2900 (2205079 DOID @D EDyR0eS)

inefficient

4' % @r&ﬁjg

Question Number : 99 Question Id : 7164471899 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Dummy variables are those variables that are qualitative in nature and they follow the scale.
c;bjé DB (3607 50e0) Ernsa_:rvmgorw (OEFS) SPOD DHOT-BVED B0 D) 2, S(80538)20
€900 00.
Options:
nominal

1. v aaraa (o)

ordinal

2 Saros(e38de5)

interval

3 x "90LI0GE (Doean)

ratio

4 ® 6&@“(5&3@}

Question Number : 100 Question Id : 7164471900 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

An estimator is said to be consistent if its 1s equal to its true population value.

BIOTIAT aedcd TPe) D) DB BeTFe e (e &@56‘&1& Dy )& DaATFO0TT &ol) 258

D?gé_)mﬁ(woaaﬂmm] ?gﬁmﬁj aa’:::}mt:i}@ooé.

Options:



sample value

1 = Froaned ey (dauree Des)

probability limit
3 e D205 (RozPoges DBDE)

core property

7 % 56 arof(aure &0),0)

expected value

Sg,?gg'f" Er'}EJJ“é(EﬂGﬂf:E" JEDS)

4 =

Question Number : 101 Question Id : 7164471901 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The point in the domain of a function where the first derivative equals zero or is undefined is referred to as a critical

point at which the of the function occurs.

DG SNFEINDY 0 FOT) & PaTPD0 ODY] T DOJRIoRIED VDO0I0 I8, 25905°D Doty Davoio o308,

oo 208 Dot (863565 000083 T ATPDOSLICIR0D.

Options:
inflection point

QDYES 000065 (De35050 Do)

relative extremum
BSOS &Yoo

convexity

3 % Qﬁﬁé;)e?: (Eroereseties)



concavity

4. % T03A(ErsCs)

Question Number : 102 Question Id : 7164471902 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
In a situation when a consumer is consuming a single commodity, the equilibrium of the consumer would be at the point

where:

DDOIFAETEIED 258 SNA) DDIFHowd "n}ot:facig_\]oeﬁs, DACIFATFED 308, DOTVf0 & Dot Gotob:
Options:
Marginal Utility < Price paid for the commodity

1 « &o® ROrade < H Eho B8odd 6o

Marginal Utility = Price paid for the commodity

7 o &aroes P30 = e o Ddodd &6

Marginal Utility > Price paid for the commodity

3y G08 POIrade> d) Fo 3Podd 66

Total Utility = Price paid for the commodity
A4 % D0D0 POITFEI0 = D) &0 D0odD 636

Question Number : 103 Question Id : 7164471903 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If two commodities are perfect substitute, the indifference curve will:
BoCD HRVDLD DOTY DT~ 0o (D)5 ) o6, BTN 50D Qe Gotwod:

Options:
slope upwards

1. & 28 TP &otod

approach a right angle

7« €I0E) é’at'a“,‘?}i BEr08006



approach a straight line with negative slope

3 « 200EFE5) S Jrend DOV 3R Dot Dod

be a straight line with negative slope

4 v 20EFS) & e DO DT Eotuod.

Question Number : 104 Question Id : 7164471904 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
If the demand curve assumes the shape of rectangular hyperbola, price elasticity of demand will be equal to:

Carol HEGH OHFSBOTT 6 DB o o)y S0, Earol oT0g), 56 ?g@gvagej HDS LEATHOTT &0od:

Options:
Zero

1' ® “r:].]ﬁ“cl

Less than unity

I x afarDed Lol B

Uity
3 ¢ ardd

Greater than unity

4 = aiarDed Soed D5

Question Number : 105 Question Id : 7164471905 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The Pareto Efficiency can take place at any point of:

2565 ﬂvmgﬁo B 6308, D DOV DT AHDSD:

Options:
Engel Curve

1 = oneS 86g



Laffer Curve
% u erah 955

Lorenz Curve

3 ® @EGGEE 555

Production Possibility Frontier (PPF)
A o TEES F2DOB Hotdabs (DDID)

Question Number : 106 Question Id : 7164471906 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The elasticity of substitution of the Cobb-Douglas Production Function is assumed to be:
ES5-C00 68 D0o(TELED DoES) GIE) DIFHIR) 0 TREDBOD QU° 2POOLIICDB0D:

Options:
Zero

1. ® ?:]JEI":L

Less than unity

I % aiarDed Sobd BE) &

Uity
3 ¢ ordd

Greater than unity

4 % Qi) Zoéd J_‘JE‘.JET:J

Question Number : 107 Question Id : 7164471907 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
In the labour market, a profit maximising firm’s monopoly and monopsony power tend to:

Texb a0, ¢5(s°0) & &0°0),85)e°, ererren DotE D 0P onE), LEEHDS0 BOI DETra; 28 AD3 o0 BRoed :

Options:



increase its demand for labour

1. & Sexd 65 oD Aot Docheiod

have no impact on its demand for labour

7 % Fe)0 505 Garrofa Deadotd 2elPad0 &0t

reduce its demand for labour

3 e300 B0 ;) oot @dinod
. 0=

fluctuate its demand for labour

1 = Fed F05 td EaTrok PeNEBDED Sa00d

Question Number : 108 Question Id : 7164471908 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which one of the following is ‘economic production’?
300 &) TS IO 08 eBE'?
e 2

Options:
Washing one’s own clothes

1 = 2080 D SToed exeren améﬁbamo
. 23

Services supplied by social service clubs

2 o A0S P00 SeSen 900 R

Doctors treating their own family members

g DOPRD A Toe Sren08) DEDJOD DS Socto

Neighbours helping each other on marriage occasions

eI ‘&)Dc:’m“a@eﬁﬁ D SFcrbard) 280840 nafailo Bodco

Question Number : 109 Question Id : 7164471909 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which one of the following relationships is not correct?

306 Doerorrees’ DA DOHO T ?
Options:

1. =

Net National Product (NNP) = Personal Income (PI) + Undistributed Company Profits (UDP) + Surplus of Public
Undertakings (SPU) + Rental of Public Properties (RPP)

DES 2SI eNE (ADIDD) = AR esroto (Do) + Doded SO Ko ereren (0KED) + VESY LYo
DOHE (IVDOID) + VP WODE 0TV, wgﬁ“m& (es60)

2. %

Gross National Product (GNP) at market prices less Depreciation = Net National Product (NNP) at market prices

DTS GO0 DG QPO 2330 eNG (2I5D) - BOMGEL = D0)85 BoL HG LG T Toud) e D (2DI5D)

3.v

Gross National Product (GNP) at factor cost plus Net Indirect Taxes less Depreciation = Gross National Product (GNP)
at market prices

08 oo Qro FAL &SNS (2IDD) + HE6 DFE DY e - BOMDEL = DTTYE GO DY Yre AL
& D (2I00)

4. =
Net National Product (NNP) at factor cost minus Domestic Income accruing to non-residents = Net Domestic Product
(NDP) at factor cost

508 oMo HE DEC 2AoD &A (DDIDD) — FITBDED(TD TRT0SY)D FHoc BIoD escrobo = 568
D00 HE DL FIAD eend (IDED)

Question Number : 110 Question Id : 7164471910 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Due to the concept of ‘paradox of thrift’ given by Keynes the:
éc%:j QD ‘cﬁ“dt:?é;} €59 ) 2PHD ORI
Options:

equilibrium level of income and saving of the nation tend to decline

1 v RSTPOM0 GIVE), DDV gﬂcm 20Bo3w B30 GV ST G0 rPTEOtsoTT SDT0



equilibrium level of income and saving of the nation tend to grow

2« RITFO0 IV, DT gwcm 2oBosw B30 ORI ST oY) PTFEOLR0TT BDMDEF0N)

equilibrium level of income and saving of the nation tend to remain same

3« e5TPON0 OI0E), DTy fg}“m} 208030 B30 0 STE0Y) 208 DEOTT 08I0

equilibrium level of income and saving of the nation tend to fluctuate

o - - )
4 x eSTPOI0 CI0E), DT gvcm 20803 B30 TV FE0eD AN SO S RAeHEEow

Question Number : 111 Question Id : 7164471911 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which one of the following statements is NOT correct with regard to Phillips Curve?
DDy HEBDD Doe0B0L) 306 PELDVS” IO VJHE BT

Options:

1. =

Short run Phillips Curve shows the trade-off between higher inflation and lower unemployment

(NS DBDY HEB 0 G [ONEs0 HBOIL RN DME|Io G 25DYOTPIY BPDRD

Long-run Phillips Curve is a straight line parallel to horizontal axis

3 &:gjgn&g DDDy LB L@ VOB LIERIS DATBCOTT €:08008

There is no long-run trade-off between inflation and unemployment

3 « B3(036e0 0BT DWE[H0 D] HIS DS 23y0G0 T

4. =

The height of the short-run Phillips Curve depends upon the rate of inflation and nominal money growth in long run

RIS DDy 5B G I8 BT foyeeo Tew dwdoD HFsrOod” TaATE Gy DYED STEDE 0000

Question Number : 112 Question Id : 7164471912 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



According to Mundell’s rule of policy assignment for achieving internal and external balance, which one of the
combination of ‘nature of imbalance’- *policy prescription’ is NOT correct?

£20BG SDOOHD eI DAAIIBD FOOSEIS Avoiied aI08), DT ey lod NoBso(dres esd Srerdy
€920y 085) DS°00, BIERD DETD0 (D36 3D QoERFTY) - DR Qo (e DRyRR) T swontd® Do
R0/ 5Re0?

Options:
Unemployment and BOP surplus - Expansionary monetary and fiscal policy

1 = i}djﬁféﬁo s0dasw Héd (BOP) Dorden - @y DRoEs andoin €508 Derdo

2. %

Inflation and BOP surplus — Contractionary fiscal policy and expansionary monetary policy

B3 [oyee0 a0BoI Do (BOP) Dorbew - 2505 D08 DR B GO DVOEB DTFD0

Inflation and BOP deficit — Contractionary monetary policy and fiscal policy

7« G5 joymo boin DD (BOP) &% - ga 08’ Dordo andoin e508 Do

4, v

Unemployment and BOP deficit - Expansionary monetary policy and contractionary fiscal policy

DHE o 0dos Hi (BOP)  &'ewn - gy Do Dordo 0dasw es8 208 Dordo

Question Number : 113 Question Id : 7164471913 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The concept of sustainable development is associated with the:
0RO DD)E 00, DD DOF SEDE &ob:

Options:
needs of the future generations, without compromising on the needs of present generation

1 = DRVO BG0 VDTV DB T°E DELOT, BINGD ST IDVTL

needs of the present generation, without compromising on the needs of future generations

3 B STV IDVTV DB T2 DESOT HRS SO0 LIDVITLD



needs of the future generations

3 % Eﬁ&)ﬁ.g&@ €8078) e9a0RTeD)

needs of the present generation

4. = a0es e300 cﬁm‘% E950RTED)

Question Number : 114 Question Id : 7164471914 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The concept of *vicious circle of poverty’ was put forward by the economist:
DEOE DO0T0T 9D BT DT ﬁgssfyé}:

Options:
Ranger Nurkse

1 v Ooaxd e:bui“c':’,‘%:5

Amartya Sen

7w E‘.‘J&f}.‘}_qé TS

.M Keynes
3 % B o). é.%:}

W.W.Rostow

A :::;.ang.{.igg:-éﬁ@“

Question Number : 115 Question Id : 7164471915 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which one of the following equations satisfies the condition of stable growth in Harrod-Domar growth model?
S0’ IO PFE-Ea00 §d aoree &° 2ODD 2B DB VOGO ?

Options:
Natural rate of growth = Warranted rate of growth = Actual rate of growth

a2 oG DL = 23520 o1 BAL = PR ond T
] Al A A
.% [ "] = ")



Warranted rate of growth = Actual rate of growth
2 o PO O Tew = TR DY Bew

Natural rate of growth = Actual rate of growth
g g e G BL = arQD B B

Natural rate of growth = Warranted rate of growth

4 x Qara )0 Bt = DD R Jew

Question Number : 116 Question Id : 7164471916 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In Marxian framework, which one of the following four social systems is different from others in the tenet that the class
that controls the factors of production also controls the society?

mue%omé DG, &, £dd SoTPON DooBod Do VAT EFE DOLVOBRSD f‘;}co;ooe:@oeﬁa & 306
DD e ;}553‘:%@956 2,88 DoHDD DS D) ot E0e00?

Options:
Primitive communisim

1 v 23D QM?S[?}B&G

Ancient slave stage

7w TOD P 53

Feudalism

3 x 3_’.3“56.‘.@&50

Capitalism

4 % DepEordaso (sege202d220)

Question Number : 117 Question 1d : 7164471917 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who propounded the theory of ‘purchasing power parity”?

Foffen 33 B0 (08y20f D6 °06) DIFoEED) DD DA ?



Options:
Amartya Sen

1 = P_‘ngé TS

Gustav Cassel

Y ¢ OFO RS

Mahbub ul Haq
3w Qoarered & a8

Muhammad Yunus

4. = E‘_‘)._‘:L}E]‘Jmét‘fj 05T

Question Number : 118 Question 1d : 7164471918 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which one of the following is NOT a component for calculation of Human Development Index (HDI)?

DD DG RS (HDI) &8 02 00 806 )5 D6 ercio SoE?

Options:
Long and healthy life

1 = &G 0803w 3T IS0 BDB0

Knowledge

2 @“R’}O

Gender empowerment

3 v Do Foos

Decent standard of living

A % 00D DD POreER0

Question Number : 119 Question Id : 7164471919 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Which of the following is NOT one of the assumptions of Joan Robinson’s Golden Age model of Economic Growth?

SoOTOS” HFord TrDIND g, YD & e &9d IETE HS g, PAFGIVS” .50 TIH IB?

Options:
Labour and capital are the only productive factors

1 « Faw(Ferd) 0BOID AITOGH0 AT ETP\OE TO5TD

Economy is assumed to be open with foreign trade

2 v DB redasody €585 DHIOF LIPC0MI0 (DD 0L LPDORIDEID

3. %

Production is not affected by the technological changes, that is. there is no technological progress

FFo3AE ATENO DY EBND PIFDB0 T, BN Jo3AE DTS Gocd

Constancy in price level

£ o
4 x 36 %“DJJEB D00

Question Number : 120 Question Id : 7164471920 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

For a given monetary base in the economy. if there is an increase in the use of credit card transactions for means of
payment, the value of the money multiplier would:

eﬂggzxga@és QN G guado(maeaé 82) B0, Doy SShyeild) E0 3465 570 rardde drEodd” DGR
6083, ©Of ESo VS DRVD:

Options:
fall

1. & DEDe0d

increase

7 & 00Meoh

remain constant

DO0TP &otodd
3 % @



move either way

4. % 20D LIONVT SCRVBI0D

Question Number : 121 Question Id : 7164471921 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which one of the following is NOT a part of the amount of money supply in the economy?
SoHarided” D& €505 a?gmgeﬁ‘ G5 DODT® Dggoes” arrio T ?

Options:
Cash holdings with banks

1 = E:F?Soéjmﬁ’ D ﬁgoﬁb

Cash holdings with household
9y (I A 3oy

Savings deposits with post office saving banks

7 DI TR ejotded”® TRy Eareen

The cash-reserve ratio

4 v RAICO-DV IS

Question Number : 122 Question Id : 7164471922 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which option of the following defines credit money appropriately?
$08 B D oS FEL DD D VAVDBOTP AOLID0H?

Options:
Money supplied by commercial banks

1 v aﬂtﬁz&?s E:J“?SCJQJE'_D FATeT S 6 AT fiﬂl}g

Loans given by the RBI

e30DD g, OEFeD
7w A



Money given by monevlenders

3 « 53(;‘: ﬂ“ﬁﬂ“mw Q3 ey

Money supplied by the government

1 % DEDSBL0 DODT® DR e

Question Number : 123 Question Id : 7164471923 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which one of the following is NOT a central bank’s tool of monetary control?
S08 TOES” IO oS erfos dlng) G JooBes F D0 THEL?

Options:
Open market operations

1 = LR a°0) 65 S“d?gsva}“bﬂw

Custodian of country’s foreign currency reserves

2 v B30 CI0E), DAY 502y DL DoCLDRD (ST E0DD)

The refinancing rate

3 % 63_25“:3}305 8 :A%)

Reserve l'qu'lil’ElIl ents

1 = Eree.ﬁg £953e07E D)

Question Number : 124 Question Id : 7164471924 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which one of the following is NOT a source of funding for non-banking financial sector?
308 TOS” IO T ePfodoh PIPRONS DFE § DotoH(DDLY) Boin HAW T ED?

Options:
Borrowing from the Central Bank

1 v 2088 erfo5 JD0C Y LAV EvIals



Borrowing from the commercial banks

7« T8y EPjOLIv A0G Ry S8 Hco

Deposits from individuals

q OO &0l Aaratn

Funds through debentures and commercial papers

4 % CEB0 ST Treia DTFY oD DG (Do)

Question Number : 125 Question Id : 7164471925 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

GST is a tax on:
2R HID 2,8 DAY :
) Gedad
Options:
Domestic production

1 = BI0D GO

Domestic consumption

7 ¢ BI0D D@0

Domestic savings

3 & BIaD T

Imports
A = Brbhaodoen

Question Number : 126 Question Id : 7164471926 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Laffer Curve shows the relation between:
erab HEGD D S0ES DoeoTEDY CAFR000:

Options:



Tax rates and the amount of tax revenue collected by governments

1 v DEDTELRD DI LSOHL DAY G B DAY TR Do

Level of national income and tax revenue

7w 2PEION) PO gf*cm SBCIY DAY TR

Relation between tax revenue and non-tax revenue

3 % E}.ﬁ)l TredC S S0BoiL E}mcl GaTeed TreaCes Sblaly FIOEIOGHO

Relation between rate of interest and tax revenue

4 % DG Bew DBOIN DAY TeADO S0EY RoeIo

Question Number : 127 Question Id : 7164471927 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If the elasticity of demand for a good is less than elasticity of supply for the good, then the:
D0 Bo darrol fg@g“fﬂﬁﬁ DRV FoH Dpow ?gagmg@ 083 PE) O €083, IDNE:

Options:
burden of tax on buyers would be higher than that on sellers

1 v §0ffenmriop D) 2700 D) EodvD $083 I OTF €08n0d

burden of tax on buyers would be lower than that on sellers

I« Eoffenoriop D) 2700 D) EoTrdeR o) BEN O &otnod

burden of tax on buyers would be equal to that on sellers

3 % Foffenorthen 20Dy 200 Eﬂ&ﬁ)&éﬂm‘mﬁ} E}a‘:ul ZPOPDS DelToTT 60806

nothing can be definitely said about burden of taxation

4 = EPZDD (DAY DB0EY) 260 (HBOD DA IO BDYTFa0

Question Number : 128 Question Id : 7164471928 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
When the total income of the government (revenue receipts + recovery of loans + other receipts) is subtracted from total
expenditure of the government (capital and revenue expenditure) for any financial year, — we obtain:

DR €598 DoDSTEDS HEDEY D0Go BEEOI0 (TDATY G + MEFL BEHE + WBC GICED) HELSBY Do
Sj000 (e Hudainy Tred Hjome) Hod eﬁ?oi}?oa‘)@:]m, - 5000 BDD TocoeEan:

Options:
Budget Deficit

1 = Alalin 5%

Fiscal Deficit
3 Db eﬁ’ﬁm(i}:::bé Zodaitd )

Revenue Deficit

3 % [exsEab 56

Primary Deficit
4 x FEDE ej*"’an{gmé Ceadoaed)

Question Number : 129 Question Id : 7164471929 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A Law that is assumed to be the first model of public expenditure in the history of public finance and that suggests that
during the process of economic development the share of public spending in national income tends to expand is
propounded by:

DDE PPy DOGS” DS DO CIVL), D DDIPTT LPDEBE 2,8 DALV BT es95 DG D30e”
2A0D 03085 PSR HFODOS” T DNBOBEIDBIE WPV 8:

Options:
Peacock Wiseman

1. % ©O5°5 DD ard

Colin Clark
I« g0 gﬂéb



Richard Abel Musgrave
B30 835 VI

Adolph Wagner
4 v P_E'E:“Ejb .ﬂ“ﬂlﬁ

Question Number : 130 Question Id : 7164471930 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Under the present structure of Indian fiscal federalism, which one of the following is NOT a mechanism for transfer of

resources to the states?

A lelilend] €508 Daregareso(WoC.aid DY S DEGDa0) alug), DANS DO VS0, 300T°GS" ToFro HHMOM
268 30 Do =26 DA?

Options:

1. =

Statutory grants under Article 275 based on the recommendations of the finance commissions

DTy S20NY VFGRR ITECOT e85 275 S0t ag};mg@m@vm@a) TPodw

Grants given as central share in centrally sponsored schemes (CSS)

I x 508 FaIrad DO (VIDIV) &S° Sog TEFTP QDD TPoeD

Other discretionary grants

7 x REHG E)ﬂ%ﬁ@“ﬁsﬂ Schen

Formula-based grants for state plans under the Gadgil formula

TGS rGo P 0o T PEFISOD ) @ &ITPOS rotw

4 v

Question Number : 131 Question Id : 7164471931 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
As per the Indian finance & accounts system, which one of the following is NOT a part/component of the public debt?

QOL0OND PPy & 9505y PR PG, 30D RS’ IO PSR e (DS 2e5)S” errio/ 0B BT

Options:



Small Saving schemes such as Kisan Vikas Patras, NSC, etc.

1 v 3D IR DEren, NSC Do D) ey DEseeD.

Government bonds

7 % ?Q_,a_i:mjs ALl AY

Treasury bills
3 % B2 Deven

Special securities issued by RBI

4 = es6DD 200 DD PB/LE DEFHODeD

Question Number : 132 Question 1d : 7164471932 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who gave the ‘opportunity cost’ theory of international trade?

@o@gﬂétﬁj E}“Eﬁaﬂéﬁ cﬁnéb ‘BT E {}5@0: .":'::%Fow:};l ey esofiotIn ?

Options:
David Ricardo

1 « GOEOsQ

Heckschor - Ohlin
EJ“E"%S = 5133“5

W.W. Leontief

Cen..Cen.. HoirDs
= ?S = 5 a3

Gottfried Haberler
4 v e & ?.’Jf-eﬁgﬁ

Question Number : 133 Question Id : 7164471933 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
According to one of the arguments of Raul Prebisch, the deterioration in terms of trade for primary-preducing countries

is one of the effects of:

g°e5 adA OI0g), 2.8 TGV PS°00, FOE-GIP\OS TFen Tredago Do Sedocicio HD Yerared® 2.8
Options:
Business cvcle

1 v auéaua BEo(DEDD 20365)

Consumption level

7« DDCIT va;a

Output level
7« 095005 TS (6T BB gvcm}

Balance of payment position

4 x 2oy gvao(‘bmoeﬁ TFe3no) OB0E), EPFTDy

Question Number : 134 Question Id : 7164471934 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If a country’s export of goods and merchandised is less than its import of goods and merchandised, then this country

would have:

208 B3390 OO0, DO IS DB FOTH TR HHL AN DO0TW JFATER Sodd BEY T 08, & Bo

DD EBA Sotodd:
Options:
Deficit on its trade account

1 v o ey arTE (BE e8P0t )e5" 5%

Surplus on its invisible account

I« ) ety ;}P@D(@ﬂsamﬁ e9S”o )e5° Doren

Deficit on its current account

3. x oD E6065 eagtoeed” 5%



Deficit on its capital account

4 = T SPOES T (S0 95081 )e5° &7

Question Number : 135 Question Id : 7164471935 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The collapse of Bretton Woods system in 1971 was mainly due to:
1971 &° B n&Ey DD DOTIS PO SCER0:

Options:
Rise in value of gold

1. # exorrGo Dewad DOMEo

Fall of gold standard
7 o BT 2260T°EI0 2IEHA0

3. =

Deficit countries did not devalue and surplus countries did not revalue their currencies

57t (Z0ae3) BFren Devd SHO0ST BOIN Dorben FFren Bab sabbmm Bﬁbmé Sog

Failure in management of international liquidity

4 x I0BTAION GaEY DOETEeeS” PO

Question Number : 136 Question Id : 7164471936 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The "gravity model’ of international trade — which utilises the gravitational force as an analogy to explain the volume

of bilateral trade flows —was first presented by:

BPAS reday oDt HDBDTEED) DDHBODEEIS MMTPEGE eF) FAPDJOT EDMTHoEIED @o@g‘“@tﬁ)
rEdEsf0 COVE), (DEEPCEYE Heorar (TPOe D0eeed) &0 Do) I Ve LA

Options:
Raul Prebisch

1. = 06 2D



Jan Tinbergen

% o CASEANAO IS

T.M. Rybezynski
.. §ed a?_.b:%

W. F. Stopler
Cen.d. Ta)bd

4 = )

Question Number : 137 Question Id : 7164471937 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The Marshall-Lerner condition is the condition that an exchange rate devaluation or depreciation will cause a balance
of trade improvement only if the:

;E;.DOEE. e e0NTVRD0 TP BEMOL aredey odxbhoe(E8E -aomaéoes] GD00E), DEVBOVIBE) & momcﬁaoeﬁ‘
APGD SO0 APgS-T0Y 6 Dot denduod:

Options:

1. =

absolute sum of the long-term export and import demand elasticities is equal to unity

BF=eDE DD BT BHIA Garol TE DI 00, B0g(eseryearge5) D000 OB DHS DaEHo

2.

absolute sum of the long-term export and import demand elasticities is greater than unity

é:gsnﬁﬁs DDy SBoTL HMDDS Earos au5§“a@u5u alog), faucgfe_?mgmgeﬁ] 2000 03D Sobl DL,

3. %

absolute sum of the long-term export and import demand elasticities is less than unity

é:gjsnﬁ}s DDA B0TL HDVR Aol aug%ﬁa@upgu o0g), %‘org(@mgwgeﬁ} 2o0go oI Lokl BER,D

4. %

absolute sum of the long-term export and import demand elasticities is equal to zero

6g5"9E ArDad dnBoTw B Earod TS wEriL aig) Bog(esenuryts) Dgo ) 8 DaTrdo



Question Number : 138 Question Id : 7164471938 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Under constitutional provisions in India, which one of the following is NOT a tax imposed and collected by the Central
Government?
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Options:
Customs duty
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Income tax

7 % eI OI0aY) EIJF(D;L

Land revenue
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Corporation tax
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Question Number : 139 Question Id : 7164471939 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following options is NOT correct?
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Options:

1. =
The expert group on poverty estimation (Tendulkar) had used the all-India urban poverty line basket as the reference to

derive state-level rural and urban poverty
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The expert group on poverty estimation (Rangarajan) reverted to the practice of having separate all-India rural and
urban poverty basket lines and deriving state-level rural and urban estimates from these
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The methodologies to measure poverty rely on the NSSO’s sample surveys on consumption expenditure by households
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Public expenditure on social services are captured. by design, in the NSSO’s consumer expenditure surveys, and the
poverty line derived from these thus shows the actual level of services consumed
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Question Number : 140 Question Id : 7164471940 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

As per the consumption expenditure data for the period 1999-2000 to 2017-18 collected by CSO and NSSO, which of
the following statements is NOT true?
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Options:

1. =

An increase in the discretionary spending by the households is observed as compared to the spending on necessities
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An increase in the share of non-food expenditure in total consumption is observed over time
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The share of food in total consumption is more in urban areas as compared to rural areas
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The share of cereals in consumption has reduced to half between 1999-2000 to 2011-12 in both urban and rural areas
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Question Number : 141 Question Id : 7164471941 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a feature of the National Food Security Act?
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Options:

1.v

The central government would specify the criteria for selecting the beneficiaries eligible for PDS entitlements
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Children in the age bracket of 6 months to 6 years are supposed to get age-specific food free of cost through the local

Aganwadis
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Children between 6 to 14 years of age are supposed to get one free mid-day meal every day in all schools run by local
bodies
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Every pregnant and lactating mother is supposed to get a free meal at the nearest Aganwadi (during pregnancy and after

child birth) along with maternity benefits of 26,000 in installments
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Question Number : 142 Question Id : 7164471942 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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As per Indian government’s accounting system, which of the following economic activities come under industry
category for gross value addition purpose?
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Options:
Financial, real estate and professional services
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Electricity, gas, water supply and other utility service
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Trade, hotel, transport, storage and communication services
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Public administration, defense and other services
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Question Number : 143 Question Id : 7164471943 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

As per the central government’s budget estimates for 2018-19, tax revenue from GST as proportional to the gross tax

revenue of the central government was supposed to be around:
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Question Number : 144 Question Id : 7164471944 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

At present, which of the options is NOT a component of the transfer of funds to states from the centre?
D00, Sob To3E5° oo Aol TP D) LADS” T2 Jong D?

Options:
Plan transfers based on the Gadgil formula
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Share of states in central taxes devolved to the states
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Finance commission grants
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Centrally-Sponsored Schemes (CSS)

. % BoG-Foires Hesen (CSS)

Question Number : 145 Question Id : 7164471945 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

NITI Aayog has developed a composite index for each State/UT, which aggregates progress towards each SDG and

classifies states as Achievers. Front-Runners, Performers and Aspirants. On the basis of this composite index, which of
the following states is NOT a Front-Runner?
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Options:

Himachal Pradesh
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Kerala
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Tamil Nadu
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Gujarat
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Question Number : 146 Question Id : 7164471946 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following averages is known as 'root-mean square’?
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Options:
Harmonic mean
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Geometric mean
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Quadratic mean
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Arithmetic mean
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Question Number : 147 Question Id : 7164471947 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The mean and variance are always equal for which of the following distribution functions?
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Poisson
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Normal

7 % Jroroe

Binomial
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Hypergeometric

4 x DB (OTa0Bs)

Question Number : 148 Question Id ;: 7164471948 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In statistical hypothesis testing, the Type I error is defined as:
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Options:
Rejection of true null-hypothesis
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Acceptance of true null-hypothesis
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Rejection of false null-hypothesis

3 % @?@D %‘0“535—“&}551?_):)&'} r:fJ:JL:}SEJ b [ i=To "

Acceptance of false null-hypothesis
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Which one of the following measures of central tendency will be the most appropriate to use if the data relates to rates,
proportions and ratio?
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Options:
Arithmetic mean
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Median
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Harmonic mean
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Geometric mean
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Question Number : 150 Question Id : 7164471950 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a type of probability sampling?
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Options:
Systematic random sampling
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Purposive sampling
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Quota sampling
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Convenience sampling
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